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Question Number : 1 Question Id : 26723610581 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Viruses are parasitic, having DNA/RNA; but they can be crystallised and lack

respiration. Therefore, they are treated as:
(A) Living beings
(B) Non-living beings
(C) Both living and non-living beings

(D) None of the above
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 1 Question Id : 26723610581 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 2 Question Id : 26723610582 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Light year is a unit of

(A) Distance

(B) Time

(C) Sound

(D) Light intensity
Options :

1. A

2. % B

3.%C

4. % D

Question Number : 2 Question Id : 26723610582 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



(31) UBR Bl
Options :

1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 3 Question Id : 26723610583 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following Vitamins is responsible for blood clotting?

(A) Vitamin A

(B) VitaminE

(C) Vitamin C

(D) Vitamin K
Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 3 Question Id : 26723610583 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 4 Question Id : 26723610584 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following diseases is genetically linked?

(A) Epilepsy
(B) Diabetes
(C) Colour-blindness

(D) Leucoderma
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 4 Question Id : 26723610584 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 5 Question Id : 26723610585 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
When was the first Cricket World Cup held?

(A) 1975

(B) 1953

(C) 1979

(D) 1950
Options:
1.9 A

2. % B
3.%C

4. %# D

Question Number : 5 Question Id : 26723610585 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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(T) 1975

(ﬁ] 1953

(ﬁh 1979

(8l) 1950
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 6 Question Id : 26723610586 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In an ecosystem, the function of the producers is to:

(A) Convert organic compounds into inorganic compounds

(B) Trap solar energy and convert it into chemical energy

(C) Utilize chemical energy

(D) Release energy
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 6 Question Id : 26723610586 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 7 Question Id : 26723610587 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Who discovered X-rays?

(A) Madam Curie

(B) Einstein

(C) Roentgen

(D) J.J. Thomson
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 7 Question Id : 26723610587 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

TR B G e 3
v feE gl
dl) SR
& T (RS
@) o o YA
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 8 Question Id : 26723610588 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which is the least populous union territory?

(A) Dadraand Nagar Haveli

(B) Daman and Diu

(C) Andaman and Nicobar Islands

(D) Lakshadweep
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 8 Question Id : 26723610588 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 9 Question Id : 26723610589 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The phrase ‘Cloud Computing’ means

(A) Delivery of hosted services over the internet

(B) Study of clouds to predict rains and thunderstorms

(C) Study of conditions of clouds for ‘cloud seeding’

(D) Use of different software for financial accounting
Options :
1.¥ A

2. % B



3.% C

4. % D

Question Number : 9 Question Id : 26723610589 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. A
2. % B
3. % C

4. % D

Question Number : 10 Question Id : 26723610590 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



‘NISHTHA' and ‘DIKSHA’ are the initiatives of which Union Ministry?

(A) Ministry of MSME

(B) Ministry of Education

(C) Ministry of Social Justice and Empowerment

(D) Ministry of Commerce and Industry
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 10 Question Id : 26723610590 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 11 Question Id : 26723610591 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which country is to introduce a bill to ban all private cryptocurrencies and create a

sovereign digital currency?

(A) China

(B) India

(C) Japan

(D) Russia
Options:
1.9 A
2. % B
3.%C

4. %# D

Question Number : 11 Question Id : 26723610591 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 12 Question Id : 26723610592 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Asha ranks 16" from the top and 15" from the bottom in an examination. How many

students are there in the class?

(A) 30

(B) 31

©) 32

(D) Cannot be Determined

Options :



1.9 A

3.%C

4. % D

Question Number : 12 Question Id : 26723610592 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 13 Question Id : 26723610593 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A cube of side 10 cm is coloured red with a 2cm wide green strip along all the sides on
all the faces. The cube is cut into 125 smaller cubes of equal size. How many cubes

have at least one face coloured?

(A) 76

(B) 89

(C) 98

(D) 102
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 13 Question Id : 26723610593 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 14 Question Id : 26723610594 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
P is 40m in South-west of Q. R is 40m South-East of Q. Then, R is in which direction of

P?
(A) North-East
(B) East
(C) West

(D) South



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 14 Question Id : 26723610594 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3.% C

4. %D

Question Number : 15 Question Id : 26723610595 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



If ‘LINGER” is ‘123456’ and ‘FORCE’ is ‘56789, then ‘FIERCE’ will be

(A) 345667

(B) 456678

(C) 345677

(D) Cannot be Determined
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 15 Question Id : 26723610595 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A



3.%C

4. % D

Question Number : 16 Question Id : 26723610596 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In a secret way of writing, INDIA HAS WON FIRST GOLD MEDAL is written as JFZJU

OUV SEF PJDVB REQZ ITZUQ. Bearing the method in mind, pick up the code from the

answer choices for

WOOoD

(A) BEEZ

(B) ZEES

(C) LEEB

(D) SEEZ
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 16 Question Id : 26723610596 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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(T) BEEZ

(@) ZEES

(4t) LEEB

(8f) SEEZ
Options :

1. A
2. % B
3.% C

4. % D

Question Number : 17 Question Id : 26723610597 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The question/statement given below is followed by two arguments numbered |
and II. You have to decide which of the following arguments a “strong”
argument.

Statement: Should Cricket be included in Olympics?

Arguments: L. Yes. It is hugely popular in countries like India and
England.
II. No. On a whole, only a handful of countries have
prominent cricket teams. whereas Olympics require
participation from most of the countries of the World.

(A) Ifonly argument I is strong

(B) If only argument I is strong

(C) If neither I nor II is strong

(D) If both I and II are strong
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 17 Question Id : 26723610597 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A RT WUy / FYF F I § 9 1 AR 11 T M §1 Mmuet g
T & g e Fofofes § § o9 @ 9 negae

YA T fbde 91 oficifue & wffa fear o =ige:
T I gl T8 WRd ok e 99 29 § ¥8g
icaie i

11 T $a e, dad
PO 5! W T § e fhee A €, wefe Sidfe # g &
it I B urfied @t srawawar gkt 3

(T) qﬁWﬁIW%

@) 9 $aq T 11 A9 @
@ s RIS 1 Toeg §

@ TG 1 3R 11 TFI A9 &
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 18 Question Id : 26723610598 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The question/statement given below is followed by two arguments numbered |
and II. You have to decide which of the following arguments a “strong”
argument.

Statement: Should Railways levy a small modernization surcharge on the
passengers?

Arguments: . Yes. It would greatly help the railways in generating
the required funds for modemizing various facilities
provided by them.

IL. No. It will greatly imbalance the budget of an average

household.

(A) Ifonly argument I is strong

(B) If only argument II is strong

(C) If neither I nor II is strong

(D) If both I and II are strong
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 18 Question Id : 26723610598 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 19 Question Id : 26723610599 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Choose the most appropriate answer

Statement (I): Protest marches and candlelight vigils were held in city X
following the rape and brutal murder of a 16-year-old girl, demanding that
justice be given to the dead girl,

Statement (II): The perpetrators of the crime on the girl are yet to be caught.

(A) Tis the cause and II is the effect

(B) Ilis the cause and I is the effect

(C) BothIand II are independent causes

(D) Both I and II are effects of common causes
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 19 Question Id : 26723610599 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 20 Question Id : 26723610600 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Choose the missing word in place of sign (?) on the basis of the relationship between

the words given:

USA : Congress :: Iran : ?

(A) BIP

(B) MADARSA

(C) MAJLIS

(D) NONE OF THESE
Options :

1.9 A

2. % B

3.% C

4. % D

Question Number : 20 Question Id : 26723610600 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 21 Question Id : 26723610601 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A sum of Rs. 21,000 is divided among A, B, C such that shares of A and B are in the

ratio of 2 : 3 and those of B and C are in the ratio of 4 : 5. The amount received by A is:
(A) Rs.6,000
(B) Rs.4,500
(C) Rs.4,800

(D) Rs. 8,400



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 21 Question Id : 26723610601 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.¥A
2. % B
3.%C

4. % D

Question Number : 22 Question Id : 26723610602 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Two numbers are in the ratio 3 : 5 if 9 be subtracted from each, then they are in the

ratio of 12 : 23, the second number is:

(B) 54

(C) 55

(D) 52
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 22 Question Id : 26723610602 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A



3.%C

4. % D

Question Number : 23 Question Id : 26723610603 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
If the total surface area of a cube is 6 sq units, then what is the volume of the cube?

(A) 1cu unit

(B) 2 cu units

(C) 4cu units

(D) 6 cu units
Options :

1. A
2.%B

3. % C

4. % D

Question Number : 23 Question Id : 26723610603 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A
2. % B
3.% C

4. % D

Question Number : 24 Question Id : 26723610604 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The ratio of the radii of two cylinders is 2 : 3 and the ratio of their heightsis 5 : 3. The

ratio of their volumes will be

(C) 20:27

(D) 27:20

Options :



1.9 A

3.%C

4. % D

Question Number : 24 Question Id : 26723610604 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 25 Question Id : 26723610605 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A is twice as good a workman as B; and together they finish a work in 14 days. In how

many days can it be done by each separately?
(A) 18,36days
(B) 19,38 days
(C) 20,40days

(D) 21,42 days
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 25 Question Id : 26723610605 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.+ A



3.%C

4. % D

Question Number : 26 Question Id : 26723610606 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A cube of side 10 cm is coloured red with a 2cm wide green strip along all the sides on

all the faces. The cube is cut into 125 smaller cubes of equal size. How many cubes

have one face red and an adjacent face green?

(A) 0

B) 6

(C) 8

(D) 16
Options :
1.¥ A
2. # B
3.% C

4. % D

Question Number : 26 Question Id : 26723610606 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 27 Question Id : 26723610607 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



There are 10 stations on a certain railway line. How many different kinds of tickets of
class lind must be printed in order that a passenger may go from one station to any

other by purchasing ticket?

(A) 90

(B) 55

(C) 72

(D) 8l
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 27 Question Id : 26723610607 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. # B
3.% C

4. % D

Question Number : 28 Question Id : 26723610608 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In how many ways 7 members forming a committee out of 11 be selected so that 3

particular members must be included?

(B) 130

(C) 80

(D) 70
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 28 Question Id : 26723610608 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A



3.%C

4. % D

Question Number : 29 Question Id : 26723610609 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The odds against of an event are 5 : 7, find the probability of occurrence of this event.

(A) 3/8

(B) 7/12

(C) 2/7

(D) 5/12
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 29 Question Id : 26723610609 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 30 Question Id : 26723610610 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Slide sorter can be accessed from which menu?

(A) View

(B) Edit

(C) File

(D) Insert
Options :

1.¥ A



3.%C

4. % D

Question Number : 30 Question Id : 26723610610 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 31 Question Id : 26723610611 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In Microsoft Word shortcut key CTRL+W is used for

(A) open the Print dialog box

(B) Update the current Web page

(C) close the current window

(D) None of these
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 31 Question Id : 26723610611 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Microsoft Word Wicde H CTRL + w @ Iuan fHar rdr %

@) fie dae e @

@) Td9H 39 U9 PI UST B

@ gdaq fd8 dg &

@h T I B T
Options :

1.¥ A

2. % B



3.% C

4. %D

Question Number : 32 Question Id : 26723610612 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Hyperlinks can be created between a Word document and

(A) another Word document

(B) another Office document

(C) aWeb page on the WWW

(D) all of the above
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 32 Question Id : 26723610612 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



TR & a8 Siagiic R & §° I o Ihdl §

@ TP R I8 SiRghc

@) @ R Ity Siagic

(@ wuw W TH 99 U

@) IR F It
Options :

1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 33 Question Id : 26723610613 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
How we can put a Chart in the presentation using Power Point?

(A) Insert->Pictures->Chart
(B) Edit->Chart
(C) Insert->Chart

(D) View->Chart
Options :
1.¥ A

2. % B



3.% C

4. % D

Question Number : 33 Question Id : 26723610613 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

UIR WIEC &1 SYART S oH URgd # I dd o THd o2

(T) gffferd di-> foF-> =rd (Insert->Pictures->Chart )

@ duifed $Y-> A (Edit->Chart )

T gf@ferd ®-> 91 (Insert->Chart )

(8l) T™-> WE (View->Chart )
Options:

1. A
2. % B
3.% C

4. % D

Question Number : 34 Question Id : 26723610614 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



How can we set page Border in Excel?

(A) From Edit menu

(B) From Home

(C) You can not set page border in Excel

(D) From Tools menu
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 34 Question Id : 26723610614 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

BH Excel H U9 dieY »Y d¢ IR Thd o2

(@) Edit BL Y

(#) Home

qﬁ] HIT Excelﬁeﬁfaﬁ@?qﬁaﬁm

{_épf} Tools '-E'Ti q

Options :
1.4 A

2. % B



3.% C

4. % D

Question Number : 35 Question Id : 26723610615 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The file extension of Excel spreadsheet is

(A) .doc

(B) .exc

(C) s

(D) .exl
Options:
1.9 A
2.% B
3. % C

4. % D

Question Number : 35 Question Id : 26723610615 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Td Wsfic 1 Bed TdHeeH &

() -doc

(@[] .exc

(@] +%xls

(8 -exl
Options :
1.¥ A

2. % B

3. % C

4. % D

Question Number : 36 Question Id : 26723610616 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which is the largest unit of storage among the following?

(A) Terabyte

(B) Megabyte

(C) Kilobyte

(D) Gigabyte
Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 36 Question Id : 26723610616 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fofifed # @ HSrRU F T §I1 3P A A B2

SN RIICIEH

Options:
1.9 A
2. % B
3.% C

4. %# D

Question Number : 37 Question Id : 26723610617 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Why is Ozone Layer important?

(A) It absorbs greenhouse gases

(B) It protects earth from ultraviolet radiation

(C) It maintains earth’s temperature

(D) Itis a buffer against extra-terrestrial hazard
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 37 Question Id : 26723610617 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
3SF WRd Hg@yul i 82

(@) g WS Tl &I SaRfd il 8

@ U8 gE & e fAfeve § = g

@) g8 gdft & qUEE H 94T & g

(@) g Hfaied-wey R & % 6 TW §

Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 38 Question Id : 26723610618 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A feature ‘Bluetooth’ now common in mobile phones, gets its name from a

(A) Chinese 10™ Century King

(B) UK Software Company

(C) Greek Goddess

(D) Danish 10" Century King
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 38 Question Id : 26723610618 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



TP BleR &gy’ o ofF AleRd BH § oW g, fHes 39w am
i 8

(@ dH 10 df TGl BT I

@) g R bUHl

@ e &t

@ St 10 & T F1 I
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 39 Question Id : 26723610619 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Who among the following wrote Sanskrit grammar?

(A) Kalidasa

(B) Charak

(C) Panini

(D) Aryabhatt

Options :



1.9 A

3.%C

4. % D

Question Number : 39 Question Id : 26723610619 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fofafe # ¥ o Ja aexw omar 82

(T)  BIfcig™

@) TP

& arfor=

(@) mvg
Options:

1.¥ A

2. % B

3.%C

4. %# D

Question Number : 40 Question Id : 26723610620 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Patanjali is well known for the compilation of —

(A) YogaSutra

(B) Panchatantra

(C) Charak Sanhita

(D) Ayurveda
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 40 Question Id : 26723610620 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Udwifer fba dees & fow o o § -

(W) A

CIRCERE

Options :
1.¥A

2. % B



3.% C

4. % D

Question Number : 41 Question Id : 26723610621 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In this question, the first and the last parts of the sentence are numbered 1 and 6. The
rest of the sentence is split into four parts and named P, Q, R, and S. These four parts
are not given in their proper order. Read the sentence and find out which of the four
combinations is correct. Then find the correct answer.

1. Abad habit is harmful, none as harmful as smoking.

P. But habhit is second nature, smokers remain smokers for life.
Q. Besides being expensive, smoking does injury to one's health.
R. Inthe long run he may get something worse-lung cancer.
S. A smoker gets nothing but smoke for his money.
6. Then why get that bad habit?

(A) RPQS

(B) QRPS

(C) SPRQ

(D) PRQS

Options :

1.4 A

2. % B

3. % C

4, % D

Question Number : 41 Question Id : 26723610621 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In this question, the first and the last parts of the
sentence are numbered 1 and 6. The rest of the sentence 1is
split into four parts and named P, Q, R, and 5. These four
parts are not given in their proper order. Read the
sentence and find out which of the four combinations 1is
correct. Then find the correct answer.

1. A bad habit is harmful, none as harmful as smoking.
P. But habit 1is second nature, smokers remain smokers

for life.

Q. Besides being expensive, smoking does injury to one’s
health.

R. In the long run he may get something worse-lung
cancer.

S. A smoker gets nothing but smoke for his money.
6. Then why get that bad habit?

(A) RPQS

(B) QRPS

(C) SPRQ

(D) PRQS
Options :

1.¥ A
2. % B
3.% C

4. % D

Question Number : 42 Question Id : 26723610622 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In this question, the first and the last parts of the sentence are numbered 1 and 6. The
rest of the sentence is split into four parts and named P, Q, R, and S. These four parts
are not given in their proper order. Read the sentence and find out which of the four
combinations is correct. Then find the correct answer.

1. Asmy jogging-enthusiast sister
Was often bothered by neighbourhood dogs
With a stick in hand,

Her husband started to accompany her on a bicycle,
On her daily run,

o o o

To ward off any attackers.

(A) SPQR

(B) PSRQ

(C) RPQS

(D) PRSQ
Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 42 Question Id : 26723610622 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In this question, the first and the last parts of the
sentence are numbered 1 and 6. The rest of the sentence 1is
split into four parts and named P, Q, R, and S. These four
parts are not given in their proper order. Read the
sentence and find out which of the four combinations is
correct. Then find the correct answer.

1. As my jogging-enthusiast sister

P. Was often bothered by neighbourhood dogs

Q. With a stick in hand,

R. Her husband started to accompany her on a bicycle,
S. On her daily run,

6. To ward off any attackers.

(A) SPOR
(B) PSRQ
(C} RPQS

(D) PRSQ
Options :

1.¥ A
2. % B
3.% C

4. % D

Question Number : 43 Question Id : 26723610623 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In this question, the first and the last parts of the sentence are numbered 1 and 6. The
rest of the sentence is split into four parts and named P, Q, R, and S. These four parts
are not given in their proper order. Read the sentence and find out which of the four
combinations is correct. Then find the correct answer.

1. Democracy is the primary goal of our Indian Constitution.

P. If representatives do not rule according to the wishes of the people, they are
changed in the next election.

Q. Inademocracy, the people are the rulers.

New representatives who are aware of the needs of the people take their

place.

=

They rule through their elected representatives.
6. Thusin a democracy, the responsibilities of the people are great.

(A) SQPR

(B) QPSR

(C) QSPR

(D) QSRP
Options:
1.¥A
2. % B
3.% C

4. % D

Question Number : 43 Question Id : 26723610623 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In this question, the first and the last parts of the
sentence are numbered 1 and 6. The rest of the sentence 1is
split into four parts and named P, Q, R, and S. These four
parts are not given in their proper order. Read the
sentence and find out which of the four combinations is
correct. Then find the correct answer.

1. Democracy 1s the primary goal of our Indian
Constitution.

P. If representatives do not rule according to the
wishes of the people, they are changed in the next
election.

Q. In a democracy, the people are the rulers.

R. New representatives who are aware of the needs of the
people take their place.

S. They rule through their elected representatives.

6. Thus in a democracy, the responsibilities of the
people are great.

(A) SQPR

(B) QPSR

(C) QSPR

(D) QSRP
Options :

1.¥ A
2. % B
3.% C

4. % D

Question Number : 44 Question Id : 26723610624 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Select the pair that has the same relationship as :

Shrub : Prune

(A) Beard : Shave

(B) Hair : Trim

(C) Lawn : Grass

(D) Wool : Shear
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 44 Question Id : 26723610624 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that has the same relationship as

Shrub : Prune

(A) Beard : Shave

(B) Hair : Trim

(C) Lawn : Grass

(D) Wool : Shear



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 45 Question Id : 26723610625 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Select that word for ‘?' that exhibits the same analogy as established among the given

words.

Genuine : Authentic :: Mirage : ?

(A) Image

(B) Transpiration

(C) Reflection

(D) Nlusion
Options:
1.9 A

2. % B
3.%C

4. %D

Question Number : 45 Question Id : 26723610625 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Select that word for ‘?’ that exhibits the same analogy as

established among the given words.

Genuine : Authentic :: Mirage : ?

(&) Image

(B) Transpiration

(C) Reflection

(D) Illusion
Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 46 Question Id : 26723610626 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Choose the option that exhibits the same analogy.

Sound : Decibel ::

(A) Earthquake : Tremors

(B) Noise : Intensity

(C) Light : Radiance

(D) Length: Meters
Options:



1.+ A

3.% C

4. % D

Question Number : 46 Question Id : 26723610626 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Choose the option that exhibits the same analogy.

Sound : Decibel

(&) Earthquake : Tremors

(B) Noise : Intensity

(C) Light : Radiance

(D} Length : Meters
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 47 Question Id : 26723610627 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Choose the alternative which best expresses the meaning of the idiom/.phrase

To change colour

(A) To change appearance

(B) To shift allegiance to

(C) To favour the wrong person

(D) None of these
Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 47 Question Id : 26723610627 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Choose the alternative which best expresses the meaning of

the idiom/.phrase

To change colour

(A) To change appearance

(B) To shift allegiance to

(C) To favour the wrong person

(D) None of these
Options :



1.9 A

3.%C

4. % D

Question Number : 48 Question Id : 26723610628 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find the correctly spelt word.

(A) Abandant

(B) Abendent

(C) Abundent

(D) Abundant
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 48 Question Id : 26723610628 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Find the correctly spelt word.

(A} Abandant

(B} Abendent

(C) Abundent

(D) Abundant
Options :

1.¥ A
2. % B
3.% C

4. % D

Question Number : 49 Question Id : 26723610629 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find the correctly spelt word.

(A) Committment

(B) Estableshment

(C) Announcment

(D) Commencement
Options :

1.¥ A

2. % B

3.% C



Question Number : 49 Question Id : 26723610629 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find the correctly spelt word.

(A) Committment

(B) Estableshment

(C) Announcment

(D) Commencement

Options :
1.¥ A
2. % B
3.%¥C

4. % D

Question Number : 50 Question Id : 26723610630 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find the incorrectly spelt word.

(A) Prestige

(B) Precipitate

(C) Prerequisite

(D) Premaises



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 50 Question Id : 26723610630 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find the incorrectly spelt word.

(A) Prestige

(B) Precipitate

(C) Prerequisite

(D) Premaises

Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 51 Question Id : 26723610631 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Find the incorrectly spelt word.

(A) lliterate

(B) Tolarate

(C) Co-operate

(D) Irritate
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 51 Question Id : 26723610631 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find the incorrectly spelt word.

(A} Illiterate

(B) Tolarate

(C) Co-operate

(D) Irritate
Options :

1.¥ A
2. % B

3.% C



Question Number : 52 Question Id : 26723610632 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Choose the one which best expresses the meaning of the given word.
Ample

(A) Sufficient

(B) Swift

(C) Detailed

(D) Huge
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 52 Question Id : 26723610632 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Choose the one which best expresses the meaning of the
given word.
Ample

() Sufficient

(B) Swift

(C) Detailed

(D) Huge



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 53 Question Id : 26723610633 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Choose the one which best expresses the meaning of the given word.

Expose
(A) Open
(B) Reveal

(C) Declare

(D) Conceal
Options :
1. A

2.%B

3. % C

4. % D

Question Number : 53 Question Id : 26723610633 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Choose the one which best expresses the meaning of the
given word.

Expose

(A) Open

(B} Reveal

(C) Declare

(D) Conceal
Options :

1. A

2. % B

3.% C

4. % D

Question Number : 54 Question Id : 26723610634 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Choose the option which is the antonym of the word mentioned.

Kindly
(A) Comely
(B) Homely

(C) Sparse

(D) Harsh
Options :



1.9 A

3.%C

4. % D

Question Number : 54 Question Id : 26723610634 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Choose the option which is the antonym of the word
mentioned.

Kindly

(A) Comely

(B) Homely

(C} Sparse

(D} Harsh
Options :

1.¥A
2. % B
3.%C

4. % D

Question Number : 55 Question Id : 26723610635 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



(A) HITUGaEY

(B) foar ucdEy

(C) faQorucey

(D) forgrfaRiyor ueay
Options :

1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 55 Question Id : 26723610635 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

g - emeur - ¥Eifdd @ deil-

(&) 931 Ucdy

(B) four  ucdy

(C) faQwor gedy

(D) forurfaRmur UeEy
Options:

1.¥A

2. % B



3.% C

4. %D

Question Number : 56 Question Id : 26723610636 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

dgdife THY BT 3aI80 5-

(A) AYATE

(B)  SigATCA

(C) gyrgayg

(D) 192eH

Options :
1.9 A
2. % B
3.% C

4. % D

Question Number : 56 Question Id : 26723610636 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



(C) qYyr gHYg

(D) 1§ 2 gl

Options :
1.¥A
2. % B
3.% C

4. # D

Question Number : 57 Question Id : 26723610637 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fFrafafead fadedl & 9 Y ardd &1 999 SIfY |
(A) ZYGHH W YG T BT g8 A g |

(B) HgH! &l T faodia 13T |

(C) Tdd Idd v 75 AR |

(D) FRTHT Tt &7 AP STHR B |
Options:
1.¥A

2. % B



3.% C

4. %D

Question Number : 57 Question Id : 26723610637 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fafafed fAedd & 3 g 9@ &1 999 ST |

() 9 ZPH W Y T &1 g¥ e g |

(B)  pgHl @l Ud fbae =fey |

(C) <dd Idd T T8 T |

(D) Hgre W BT AY oM B |
Options :

1.¥ A

2.% B

3. % C

4. % D

Question Number : 58 Question Id : 26723610638 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



TR Weq DI Igaa &4 TI-

(A) iRl

(B) =R

(C) FRHTOr

(D) FH 9 BIg a1

Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 58 Question Id : 26723610638 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
ARl Weq B §gda- ¥U BHT-

(&) =gl

(B) =R

(C) RO

(D) TH § HIR TaI
Options :

1.¥ A

2. % B



3.% C

4. %D

Question Number : 59 Question Id : 26723610639 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

39§ DI -1 g1 Ueg YT |

(A) PA-F

(B) 3{ddd- GgRI

(C) §H-7g@

(D) uNIe- Hed
Options :

1.¥ A
2. % B
3.%C

4. % D

Question Number : 59 Question Id : 26723610639 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



T ¥ DF -9 gH TG IS © |

(B) $dA- 9

(B) 3add- BRI

(C) - HE

(D) YG- e
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 60 Question Id : 26723610640 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

HRTOr Weg o forg WEt fadiA @1 =g Py

(A) I h

(B) sfas

(C) em ot

(D) dish
Options :
1.¥ A

2. % B



3.% C

4. % D

Question Number : 60 Question Id : 26723610640 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

o T & i w@ fdm &1 T SR

(2) Ig 4t

(B)  sfasht

(c) e ot

(D) ool

Options :
1.9 A
2. % B
3.% C

4. %D
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